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Homework #2: Limits and continuity

Note: Your work can only be assessed if it is legible, You must show all of you work on all problems save '1 ; §
You do not need a calculator to complete this assignment.

1. The iraph of y = f(z) is below. Use it to compute each limit or explain why it doesn’t exist.
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2. T/F (witk justification) If lim, 0 ¢lz) = 0 and Yim,_» hlz} = 0 ther lm,_s = ) does not exist.
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3. Evaluate the following limits exacsly using algebrae and limit iaws.
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4. The squeeze theorem will prove valuable in this problem.
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Evaluate the following limite if they exist. If & limit does not exist, write DNE.
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(b) limyr- f(&) = G (0) limg - f(z) = Y

(c) lima_s F(z) DNE 0 limen fz) = Y

6. The rrraih of & function g(z) is given below. State the intervals on which ¢ is continuous,
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For what value of the conssant ¢ is the functior 7 continucus on the entire real line {—oo
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8. Use the intermediate value theorem to show that there is & solution to 2 — +/z —Inz = 0 on the interval
%:_2, 3} Explain your reasoning
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Hint: You may finc the foliowing facts heipful
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